
https://www.leads4pass.com/050-6201-archerasc01.html
2024 Latest leads4pass 050-6201-ARCHERASC01 PDF and VCE dumps
Download

 

 

 

050-6201-ARCHERASC01Q&As

RSA Archer Associate Exam6201

Pass RSA 050-6201-ARCHERASC01 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/050-6201-archerasc01.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by RSA Official
Exam Center

 

 

Latest 050-6201-ARCHERASC01 Dumps | 050-6201-ARCHERASC01 Study Guide | 050-6201-ARCHERASC01
Exam Questions

                               1 / 6

https://www.leads4pass.com/050-6201-archerasc01.html
https://www.leads4pass.com/050-6201-archerasc01.html
https://www.leads4pass.com/050-6201-archerasc01.html
https://www.leads4pass.com/050-6201-archerasc01.html


https://www.leads4pass.com/050-6201-archerasc01.html
2024 Latest leads4pass 050-6201-ARCHERASC01 PDF and VCE dumps
Download

QUESTION 1

Which Apply Conditional Layout item takes highest priority of all others at the Field Level within Conflict Resolution? 

A. ReadOnly 

B. Required 

C. Display 

D. Use Default Settings 

Correct Answer: B 

 

QUESTION 2

In what way can Issues Management act as a foundation for other Archer solutions? 

A. Baseline issues provide a basic understanding of business and IT infrastructure 

B. Issues logged by a variety of groups provide a partial inventory of software applications, acting as a foundation for
other inventories 

C. Issues generated by several groups can be handled in Issues Management, including audit and risk and compliance 

D. Issues Management helps to decentralize risk at a high level 

Correct Answer: C 

 

QUESTION 3

Why might creating role-based groups positively impact the end user experience when working with user/ groups lists? 

A. It increases the complexity of key tasks 

B. It eliminates the need to select relevant users individually 

C. It eliminates the ability to synchronize with your LDAP server 

D. It simplifies access control by enforcing the one-role, one-group rule 

Correct Answer: D 

 

QUESTION 4

Which of the following Layout Objects might you use to create while space searching in a record? 

A. Placeholder 
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B. Section 

C. Custom Object 

D. Tab Set 

Correct Answer: B 

 

QUESTION 5

Users can be granted access to record data at what three levels? 

A. Field, Record, Application 

B. Form, Page, Application 

C. Field, Application, Workspace 

D. Form, Page, Workspace 

Correct Answer: A 

 

QUESTION 6

All system users automatically belong to a built-in group named 

A. All 

B. Enterprise Management 

C. Everyone 

D. Basic User Parameter 

Correct Answer: C 

 

QUESTION 7

Which of the following are the page-level privileges that can be granted to a user/group through an Access Role? 

A. Create, Access, Modify, Delete 

B. Build, Read, Update, Delete 

C. Create, Read, Update, Delete 

D. Build, Access, Modify, Delete 

Correct Answer: C 
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QUESTION 8

If an RSA Archer user cannot see an application that does not exist within the system, what should the administrator
check first? 

A. The administrator should verify the user has been assigned a role that grants access to the application 

B. The administrator should verify the user has been granted access rights to Private fields within the application 

C. The administrator should confirm the user is named within a Record Permission field within the application 

D. The administrator should verify the user belongs to at least one group 

Correct Answer: A 

 

QUESTION 9

Which of the following is true about Security Parameters? 

A. A Security Parameter cannot be assigned by default 

B. A user can only be assigned one Security Parameter 

C. Only Application Owners can be assigned a Security Parameter 

D. A user can be assigned up to three Security Parameters 

Correct Answer: A 

 

QUESTION 10

On the Task-Driven Landing Page, what appears in a user\\'s Task pane? 

A. An interface that allows the user to create and assign new tasks for other users 

B. The top x-number of open Tasks, sorted by date. The administrator defines the maximum number of records that can
appear 

C. All Task Management records that have been recently edited, regardless of status 

D. Up to 25 open Task Management records appear at the top; Archived (Closed) Task Management records appear in
a collapsed section at the bottom. 

Correct Answer: B 

 

QUESTION 11

Beyond federal organizations, Public Sector might be an appropriate solution for which of the following? 

A. Only Federal organizations should implement Public Sector 
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B. Any organization complying with NIST SP 800-53 

C. Any organization with vendors 

D. Any organization complying with SOX 

Correct Answer: C 

 

QUESTION 12

Which of the following is a key feature of Issues Management? 

A. Improved leveraging of assessment results 

B. Decentralized issues management process 

C. Consolidated and coordinated list of findings and remediation plans 

D. Increased reactive overload for business operations 

Correct Answer: C 

 

QUESTION 13

What is the first step in addressing the issue of Regulatory Compliance? 

A. Identifying owners for regulation-related controls 

B. Clearly and consistently documenting corporate policies, including mapping those policies to industry regulations 

C. Implementing a policy lifecycle maintenance process 

D. Testing corporate controls to identify current gaps in compliance 

Correct Answer: B 

 

QUESTION 14

Historically, each area of a typical organization would manage its own risks. How does RSA Archer\\'s Operational Risk
Management solution area differ in approach? 

A. RSA Archer\\'s ORM solution offers control of the complete risk life cycle, enabling improved governance of risk
management activities while also providing visibility to management 

B. RSA Archer\\'s ORM solution will send email notifications to all other areas of the business when a risk is realized
anywhere in the organization, thus promoting visibility and encouraging a quick reaction 

C. RSA Archer\\'s ORM solution reduces the risk of IT and business disruption through specialized dashboards and
reports 

D. RSA Archer\\'s ORM solution enforces a siloed approach, as this will give more power to each area of the business

Latest 050-6201-ARCHERASC01 Dumps | 050-6201-ARCHERASC01 Study Guide | 050-6201-ARCHERASC01
Exam Questions

                               5 / 6

https://www.leads4pass.com/050-6201-archerasc01.html
https://www.leads4pass.com/050-6201-archerasc01.html
https://www.leads4pass.com/050-6201-archerasc01.html
https://www.leads4pass.com/050-6201-archerasc01.html


https://www.leads4pass.com/050-6201-archerasc01.html
2024 Latest leads4pass 050-6201-ARCHERASC01 PDF and VCE dumps
Download

to make decisions 

Correct Answer: A 

 

QUESTION 15

Why might you designate certain fields as required fields? 

A. To ensure values are added to those fields before the record is initially saved 

B. To allow users to opt out of those fields 

C. To ensure those fields appear be default in search results 

D. To ensure values in those fields serve as hyperlinks into the record 

Correct Answer: A 
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